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¥ 1 TiE &0 39 39 18 1.1 70.9
* 2 = 47 40 87 156 | 71.4
¥ 3 ARE = 40 43 83 9.3 13.7
* 4 KiEg B 39 36 15 0.7 74.3
*5 k% - 43 46 89 142 | 74.8
6 A FEiE 44 43 87 12.0 | 75.0
*7 i WA 41 40 81 5.9 15.1
8 B EBL 43 43 86 106 | 75.4
9 =l Eh= 44 43 87 11.0 | 76.0
*10 RIE £ 46 45 91 15.0 | 76.0
11 NE BB 44 43 87 10.8 | 76.2
12 RF RF 48 43 91 148 | 76.2
13| KEKR S 42 49 91 142 | 76.8
14 20 AB 47 46 93 16.0 | 77.0
15 LR 49 42 91 139 | 77.1
16 AXRE H 49 40 89 106 | 78.4
17 BE B— 43 37 80 | 1.2 | 78.8
18 ARER FRIE 45 43 88 8.3 19.7
19 E rEX 48 43 91 10.9 | 80.1
%20 gl &— 45 39 84 2.6 81.4
21 P FERE 47 43 90 8.5 81.5
22 EN EE o1 45 96 13.9 | 82.1
23 BA fbk 44 45 89 6.8 82.2
24 g & 50 48 98 15.1 | 82.9
%25 RiE 1EJA 45 42 87 3.6 83.4
26 BER HIA 49 47 96 125 | 83.5
21 Bl BEA 45 49 94 9.9 84.1
28 =H =R 48 47 95 104 | 84.6
29 KU SEF 42 o4 96 10.9 | 85.1
%30 &l —Bf 48 46 94 8.7 85.3
31 it S A 44 48 92 6.0 86.0
32 FAE #k5E 50 50 100 | 13.7 | 86.3
33 7% K 45 45 90 3.2 | 86.8
34 TE fi#— 54 50 104 | 13.5 | 90.5
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* 1 Rk =F=i 41 46 87 18.1 68.9
¥ 2 =K JA 48 51 99 28.4 70.6
% 3 E EfT 49 50 99 28.1 70.9
* 4 =R FEHA 49 45 94 22.8 71.2
%5 F A 46 47 93 20.8 12.2
6 ER B 45 45 90 17.1 712.9
*7 XiE & 50 45 95 21.2 713.8
8 £H NE 47 47 94 20.0 74.0
9 T §5 47 49 96 22.0 74.0
%10 f5HE P 49 47 96 21.4 74.6
1 e e 54 51 105 30.0 75.0
12 F =EB 44 50 94 18.6 75.4
13 BH =& 52 48 100 24.3 15.7
14 F ZEF 47 47 94 18.0 76.0
15 g B— 50 47 97 21.0 76.0
16 ¥ E—EB 45 50 95 18.9 76.1
17 MmaR FHE 48 51 99 22.5 716.5
18 x5 AF 51 51 102 25.0 717.0
19 BEF HRER 51 51 102 24 1 711.9
%20 BHA f=E 51 51 102 24.0 718.0
21 ME &)X 50 46 96 17.5 78.5
22 @8 g 51 45 96 17.4 718.6
23 EE RS 48 51 99 20.1 78.9
24 s Jii Y] 51 49 100 20.4 79.6
%25 BK B 50 48 98 18.2 79.8
26 RE F— 51 48 99 19.2 79.8
27 it LiE 56 56 112 315 80.5
28 E fiE 60 55 115 34.5 80.5
29 RE #TF 48 52 100 19.2 80.8
30 XK = 56 45 101 18.5 82.5
31 Fhot HAE 49 52 101 16.9 84.1
32 IRA FA 51 51 102 17.9 84.1
33 ZREp B— 56 51 107 21.9 85.1
34 Bl #F 52 52 104 18.8 85.2
%35 By E 58 57 115 29.1 85.9
36 hE BE 57 48 105 17.6 87.4
37 mE BAx 55 53 108 19.5 88.5
38 HO = 58 55 113 24.0 89.0
39 AR B— 50 67 117 26.0 91.0
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